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(Simplify your answer. Type an integer or a simplified fraction. Use a comma to éeparate answ’afrs' as needed.)

M=2)3 7 T
Answer: _l —22 W) — e -

3+ S il 2\
<}_A>( 57\ -('4/ 4 J'(.. (!IV")("\ , @/ ’//\/f/

_3_
\ ;
ID: PF.4.39 Bt | T O

28 ==
P
?_h S G s \//

2=, 5

2. Find the domain of the function.

f(x) = 4/5x - 45

The domain is r . (Type your answer in interval notation.)
Answer: [9,00)
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=3x+1; g(x)=5x-4 ( /7////)(// -

(a) Find (f+ g)(x). /{/ - ////
(f+g)(x)=: (Simplify your answer)( )( f/) - /5 (/)
What is the domain of f + g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice. 5)/_,/,/ ”7"4/‘\/-‘:/ _( 8 hin
A

O A Thedomainis{x } ( ?)( -g ) w ( M

(Use integers or fractions for any numbers in the expression. Use a c comma to separate

answers as needed.) . —
(O B. The domain is {x| X is any real number}. ( 7/-'5) (S//
A ’—// 7%

(b) Find (f— g)(x). !
f-g)x) = I(Slmpllfy your ans er)) )(/f/ "ﬂ/)(’fy = ___r,)_/i' A/

What is the domain of f — g? Select the correct choice below and, if necessary fill in the answer box to.complete your--

choice.
== ‘) g _H*_HH /r
( —¢ X ~+ J/) /

—

O A. The domain is {x| }. m—
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) f ¥ P f )(/
O B. The domain is {x| X is any real number}. ( / L )/
(<) Find (f+g)(x). Leg e 5(4) 7

909=___ | (Simplify youranswer(g N+ /)/ﬁ — ) ~

C = ——

What is the domain of f- g? Select the correct choice béow J/d If necessaryxﬁll in the answer box to complete your choice,

O A. The domain is {x| 3. Q / S.)( ~’7)( (/ "L{

(Use integers or fractions for any numbers in the expression. Use a comma to separate rate e (/

answers as needed.) AN f)(

O B. The domain is {x| X is any real number}. )&(/ L { )(, ) ﬁ" A (/ i /('.«

(d) Find [é](x). / xf}_ &<y

964 S5 =
(i] =] | (Simplify your answer.)~ 3{_—// j’ "/L// "{g ¢

‘_‘x” (/,-f

f
What is the domain of —? Select the correct choice below and, if necessary, fill in the answer box to com?ete your choice.

(--/%7)()() 6x~3 ¥ en

O A. The domain is {x| 3 X
(Use integers or fractions for any numbers ir tha expression. Use a oomrna to separate S-
answers as needed.
) L9 2/ - ') -

Fro)==Hsd
((///)(?) /> )

O B. The domain is {x| X is any real number}.
(e) Find (f+ g)(2). (
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o)) = —iX7 s
/)/9’) = ~U(%)7\—

5 ) / & ) = 1"+ )

@Fna-9®. ( A 3)( (/) 3 Hg

(f-9)(3) = | (Type an integer or a simplified fra

f+g)(2)= | (Type an integer or a simplified fraction.)

(f) Find (f- g)(4).

f-g)4)= _' | (Type an integer or a simplified fraction.)

weva (o (/ 2= A ~7x~<{
5 )(3) /r/?) —703)=7
[ ](1) . |(Typeaninteger or a simplifi jﬁn )/ 3) 3—(?)( 5) 7 (? ) %{

o ZXT:e domain is {x| x is any real number}, “' / /_3) e ALBLT\\ / o Lf
cj‘)(g)j /]o 2/

-2x+5

B. The domain is {x| x is any real umber}.

15x% - 7x - 4 . . 3)/—%/
2)( 1;h1e domain is {x| x is any real number}. (‘;{ ) /)( / T ,_..—gr’-)-/l:;

) %)y = L
A. The domain is {xl x#— ) /( g—{ {) -4

(Use integers or fractions for any numbers in the ex ression. Use a comma to separate answers as needed.)

. 5l ) (1) - f’ L//

.Dm: (,5) (DT 7 (f (,) L%v

| W “"\._..-/’ ‘\._____-”'F_ e
] fix + h) f(x)
Find the difference quotient of f; that is, find ——————, h#0, for the foIIowmg function. Be sure to simplify.

fx)=x% - 6x+ 1 /6(”‘/ = /f)éf/n) ) -—-[/ 6+ )
= Mﬂiﬁ;&_ Gt —X 64—~

A .
Answer: 2x+h =6 )('»—{'_L;_( fq ~:‘"|,~(L. '—(’Iq —_6/——[;@?’(__:)( f X — -

/A
ID: 1.1.83 )(g LX A_*f‘_{’!?‘(‘:)( —pbs ¢ ‘,.__,._,:-_X L-r‘ C/-—/ = )
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5.
Determine whether the graph is that of a function by using f() ‘ G )
the vertical-line test. If it is, use the graph to find Qj“’ J
(a) its domain and range. (-38) 1 (3.6)
(b) the intercepts, if any. 4 X
(c) any symmetry with respect to the x-axis, y-axis, or the 15 i 15
origin. o) I .
("H ) 1 (49)
-12-4
Y

Is the graph that of a function?

‘& Yes

O No

If the graph is that of a function, what are the domatn and ran e of the function? Select the correct choice below and fill in
any answer boxes within your chcu ( / ,( Q) 3

gy L (bt 70r

O A. The@omaig‘is ( ", P, ) Th{ringg is ( = -"_)\'/': L»[ J -
(Type your answers in interval notatir:)”

(O B. The graph is not a function.

What are tr@rcepts? Selﬁcl the oorrelct ch(ome below and fill in any answer boxes within your choice.
X: 1 '..;) ) 5
OA. ()/\5) (‘fu_) /M 6/
(Type an ordered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

(O C. The graph is not a function.

Determine if the graph is symmetrical.

O A. Itis symmetrical with respect to the origin.

O B. ltis symmetrlcal with respect to the X-axis.

”_ﬂf_a- It is symmetrlcal with respect to the y-axis.

o
(O D. The graph is not symmetrical.
(O E. The graph is not a function.

Answers Yes
A. The domain is | (= 00,00) |. The range is (- ,8] |.(Type your answers in interval notation.)

A ;(9,0),( = 9,0),(0,6)5(Type an ordered pair. Use a comma to separate answers as needed.)

C. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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6. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

(a) What are the terc-epts? ; l« / K f
el r

(—(, J (;w—()) 11/4 ')u_)ﬁ

(Simplify your answer Type an ordered pair. Use a comma to separate answers as nee/déd )
. /

(b) The @ || ===,

(Type your-answer in interval notatlon )

AWM
The@ge is | ( 0! )) >
(Typ ur answer in interval notatlon) (/W

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in-any answer boxes- wm'nn your ) {

choice.
X I
— 3, (/.\ S
O A. The graphis i!ér_f‘saslrhg on Z ﬂ(’ O‘S L / ,( '
A
(Type your answer in interval notatton Use a comma to separate answers as needed.) {. [ )
-~
(O B. The graph is not increasing on any interval. ' ’L»\ _

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within yuur ] \/\ ?
choice.

e _ ( _"J IY
O A. The graphis qécreaang on ( } /
(Type your answer-in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graph is constant on /f‘f—_'—- \
(Type your answer in interval notation. Use a comma to separate answers as needed. ) Y C\ 5&/ \
< (j\‘ﬂ The graph is not constant on ar any interval. = / )L O\/\ |

(d) The function is (1)

™ ————
(1) @J neither odd nor even.—
O even.
O odd.

50f23 12/17/2019, 8:35 AM
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Answers (- 2,0),(1,0),(0,2)
[-3.3]
[0,3]

A. The graph is increasing on ' [-2,0],[1,3] |
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on : [-3,-2],[0,1]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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7. The function f is defined as follows.

3+3x ifx<0
f(x) =
X2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) The @main of the function fis [/ ,)C | )
(Type your answer in interval notatton.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. Thgintercept(s) is/are( —/, o) ( )
(Typé an ordered pair. Use comma to separate answers as needed.)
(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A O B.

(d) The range of the function fis ' .

(Type your answer in interval notation.)

Answers (= 00,00)

A. The intercept(s) is/are | (-1,0),(0,0) |
(Type an ordered pair. Use a comma to separate answers as needed.) e ' < 6 I/jf A - l)

(-A_J,-;,Lc.fobv
mia S L

i < 7‘:)“/ )
)( — v ay ™ } L \

D.

(= 00,00)

ID: 1.4.37 . f — 2o J) /7"<J[

— - - y

STl < L)

T, : Clrgg
T are (X 20) Ciy
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8. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) Fx)=f(x)+4 (b) G(x) =f(x +5) (¢) P(x) = - f(x)
1
(d) Hx) = f(x +2) - 1 (e) Q(x) = Zf(x) (M g(x) =f(-x)

(9) h(x)=1(2x)

(a) Choose the correct graph of F(x) = f_(x} +4 below.

O A. ;/Oa

(b) Choose the correct graph of G(x) = f(x + 5) below.

O A EIO& Oc. O D.

S B

(c) C—ha);e the correct graph of P(x) = —f(x) below.

O A. O B. If0c

(d) Choose the correct graph of H(x) = f(x +2) - 1 ba!gw'. T

OA. O B. fog

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(9) Choose the correct graph of h(x) = f(2x) below.

-

O A. '““x\ OB. Oc. O D.

9 0f23 12/17/2019, 8:35 AM
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Answers
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9.
(a) Graph f(x) = |x + 3| - 4 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 1_0:
that lies below the x-axis. 8
(a) Graph f(x). _6~:
(Use the graphing tool provided to graph the function.) '4:
21
(b) The area of the region bounded by f and the x-axis that Tl ‘
lies below the x-axis is | | square units. T L A 1 A
(Simplify your answer.) 10| P op = =2 :2‘ 2 9 & 110
i
b~
B

Answers 41&3‘
10

ID: 1.5.81
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10. Find the zeros, if any, of the quadratic function using the quadratic formula. What are the x-intercepts, if any, of the graph
of the function?

f(x) = 2x2 + 3 +6x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

(O A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
are

O B.

(O €. There is no real zero solution and no x-intercept.

=3+43 -3-43
Answer: A. The zeros and the x-intercepts are the same. They are 2 5 2 I

e forcrs g
G = | }-j;_.’cJ C=.3 i

A= ’_’Q_j_L/ Ll —vc Ve

2 A / =

2 () ;’

7 =3 vz
~/f ’-/
)( < ’_6_,;__0#,/;{,- V.

12 of 23 ¢ _ B - 12/17/2019, 8:35 AM
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13 of 23

For the quadratic function f(x) = — 2x2 —-2x -1, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of fis |
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

QO A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

Q B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval _-
(Type your answer in interval notation.)

The function is decreasing on the interval '
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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A. The y-interceptis| =1

Answers (1) down.

— e —

B. There is.no-x—intereept_.-
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12. Find tr{;mcal ho nzontal and oblique asymptotes\ if any, for the following rational function.

ASN—AA /O T
x+10 X700z U ©

: . I . o /t/_ —/ 2 \//
Select the correct choice below and fill in any answer boxes within your ch0|ce /‘

R(x) =

O A. The vertical asymptote(s) is/are x = Q f'/f €, - & ,/’ J},/f( L(’ (/( / 5, ) _

(Use a comma to separate answers as needed:)——

(O B. There is no vertical asymptmLe._ e

o~ ~

ﬁ"/—r’%f—/'wf’/ A)ﬂ
N5k st e Botlsr

Select the correct choice below and fill in any answer boxes within your choice.

O A. The horizontal asymptote(s) is/are y =

(Use a comma to separate answers as needed.) ' 3 >(

(O B. There is no horizontal asymptote. I 2
2

Select the correct choice below and fill in any answer boxes within your choice. _r-/. | //
O A. The oblique asymptote(s) is/fare y = E '5

(Use a comma to separate answers as needed ) o — . *$\- —
(O B. There is no oblique asymptote: [

7(;/:2u " 8 / G591 ude ij .
Answers A. The vertical asymptote(s) is/are x = =10 (Use a comma to separate ansv_vaé_as needed. )
A. The horizontal asymptote(s) is/are y = 3 .(Use a comma to separate answers as needed.) J /

B. There is no oblique asymptote.

""J"'S/hu %I;/; s T /"

ID: 3.4.45 = a N
Savrys  Gs f'7//’/ffﬁl /ﬁfﬁw’ /"‘//IM—,
74‘/4’1/1 / //ﬂ/ /s P Oé’/;‘ //,L( (.S / % 7 /(

/
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13. For f(x) = 3x + 7 and g(x) = 8x, find the following composite functions and state the domain of each.

16 of 23

(@) fog (b) gof (c) fof (d) gog

(@) fog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo g is all real numbers.
(b) (gof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of g o fis {x |
(Type an inequality. Use integers or fractlons for any numbers in the expression. Use a
comma to separate answers as needed.)

O B. The domain of g o fis all real numbers.
(c) Fo H(x) = | | (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o fis all real numbers.
(d) (@og)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domainofgogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

O B. The domain of g o g is all real numbers.

Answers 24x+7
B. The domain of f o g is all real numbers.
24x + 56
B. The domain of g o f is all real numbers.
9x + 28
B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.

12/17/2019, 8:35 AM
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Cl 4he function f(x) = 12x + 4 is one-to-one. Ay

(a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of fand f~ . f6-
(c) Graph f, f~ 1 , and y = x on the same coordinate axes. 12:
8-
(@ f~ (x) =| :
(Simplify your answer. Use mtegers or fractions for any 4-:
numbers in the expression.) 3 X
TN e B L O 0 . O O B >
_ _ _ Cog0tie 2 el e 16, . 20
(b) Find the domain of f. Select the correct choice below and, if ti3
necessary, fill in the answer box to complete your choice. 3
+
O A. The domain is {x|x2 }. 4]
O B. The domain is {x|xs }. -1&3
O C. The domain is {x|x# 3. 5]

(O D. The domain is the set of all real

numbers. ’4 >//,f / X~ (7/

Find the range of f. Select the correct choice below and, if

necessary, fill in the answer box to complete your choice 2 —f (/ M \‘7 <

N
O A Therangeis{y|y2_ ) } f”l/V Ve
O B. Therangeis {y|y;¢e } )( - /Z (7 7 (/

O C. Therangeis {ylys } )(_/% - /7 77" ('f/i'c_.-l

XY

D. Th is the set of all real bers. . -

QO e range is the set of all real numbers ¢ ,[_,\,( 54/
/ Z ‘ -
Find the domain of f 1. Select the correct choice below and, if }(—'—" 5/ ~— /
necessary, fill in the answer box to complete your choice.
V—Y9 = )9

© A. The domainiis {x|xs }. = it
O B. The domain is {x|x2 } / 1 _ﬂ.
O €. The domain is {x|x;ae }

(O D. The domain is the set of all real
numbers.

Find the range of f 1. Select the correct choice belm(,gnd. if
necessary, fill in the answer box to complete your choice.”

>

O A. Therangeis {nyS } (
O B. Therangeis {ylyz 3 - -
QO C. Therangeis {yly# }-

(O D. The range is the set of all real numbers.

(c) Graph f, f~ 1 , and y = x on the same coordinate axes. Use
the graphing tool to graph the functions.

19 of 23 12/17/2019, 8:35 AM
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x—-4
12

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real nu bers \’L )( /f

Ay
_20-,(4

‘65

ID: 4.2.53

———

15. Solve the equation. (,
=39
647 %+ 39 = 428 ( 2 02

The solution set i |s
(Type an integer or a S|mpllf ied fractlon Use a comma to separate answers as needed. )

\_~6x +2} 7 |
Answer: 18 2 — \/
ID: 4.3.73 e / _//})y — 7)(
PRI 2Ty T AA— 23
—6 X T 7xX-03Y
f-e>(°‘7><’ 7 w— 23y — 71X
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) ¥
/61 (, | : b=
16. Solve the equation. ,’L X M/C / /()) 7 (V X‘f ) )'/ S/
log ,(4x+5)=4 / u
Change the given logarithmic equation ponential form. L/
] :2 ’ X+
(Type an equatlon Do not simplify.) 2 2 O‘\ Z s y )( £ "

The solution set is { I - 9/ X//f _S

(Simplify your answer. Use a comma to separate answers as needed.) / C

Lot —C
R /6 —5 < 9%#4f_ JO//

1"

4 /[

ID: 4.4.91-Setup & Solve

_——--—'—'_'_—___
17. Find the amount that results from the given investment.

@Eo/mvastad élompounded@ after a period {J}ars
After 2 years, the investment results in §
(Round to the nearest cent as needed. ) ZT( /_71 /(/)
Answer: 468.66 A ;’C)U//"T @”{)Q’(Z )"’3) -..9‘(/@ CL‘:%Qi

azr AGW ()40 “HCF (€35
s JF(% %yzuy4a4_

18. How many years will it take for an initial investment.of $20,000 to grow fo $50,0007 Assume a rate of interestof 19% .
compounded continuously. L,/

It will take about | years for the investment to grow to $50,000.
(Round to two decimal places as needed.)

Answer: 4.82 A’ < /( < '/Q‘é
ID: 4.7.41 S00cu = QUJ& P w/§ é

Fouvo 2000 O C’// /,2,3)’ /< L

AT i -
JZ /Q b} / )ﬂ/qg/ 7 Yo 722, )/7274;{7:2-
(/Z//J ) //é m// Q‘gz;——€§
/%/?Q/” ,/?(//// C
21@2%/24 Y)f o/fé
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19. Solve the system of equations. If the system has no solution, say that it is in %’Etent —_— ,—2"—
4x =by=1

5x +y =23 / 5 d)—(_x/, > 5—3—-‘~Z{)—ﬁ/ < /

264 o=/l 6 é(”/
Select the correct choice below and, if necessary, fill in any answer boxes within your choice. "‘ 7
LY — sy =/
O A. The solution of the systemisx= andy= . (7/ )(/ 7
(Type an integers or simplified fractions.) ¢ / ( Y ) ~5‘<7
(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as -
{(x,y) Ix= .y any real number}. / ( =3 L' (
(Simplify your answer. Type an expression using y as the variable as needed.) : / _
(O C. The system is inconsistent. / (- =% / 1 I~ / G
g G /s
Answer: A. The solution of the system isx = 4 landy=! 3 A ; .
(Type an integers or simplified fractions:) 8§ 7 /s

i\

D613 C K )/ / ) (C// 3) H\\ (:'1'7 : ,E“t‘;

20. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

x-2y+az=13 2NV /47‘///&/: ¢ A_,L [7\? X &

2x+ y+ z= -4
—3x+2y-2z= -6 Vf}" ~c/ .
3 -G =
Select the correct choice below and fill in any answer boxes within your choice.
SRS
O A. The solution is x = A ,and z= . (Type 4

integers or simplified fractions.)
(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{xy.2) | x= Y= . any real number}.

(Simplify your answers. Type expressnons using z as the variable as needed.)

(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as : ( V] g
{xy.2) | x= .y any real number, z any real number}. | (7 C
(Simplify your answer. Type an expression using y and z as the variables as neede%:l.) \ (/

(O D. The system is inconsistent. || /

v
\ P
\,
Answer: A. e
The solution is x = -2 VY= -3 ,andz= 3 . (Type integers or simplified
fractions.) .
v - ) t - V )Z‘/
/n//) Ay /77*”/ v
ID: 6.1.45 /

/}/{ e /m‘g) ~ / . “"‘-..___\:\
) Z) KK/ , }))\
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21. Find the real solutions of the equation.
4+ \/ 3x-2=x

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

O A. The solution set is {
(Simplify your answer. Use a comma to separate answers as needed.)
(O B. The solution is the empty set.

Answer: A. The solution set is { 9 J}»

(Simplify your answer. Use a comma to separate answers as needed.)

oasss UL = A ke te
(W) (X~ 9’)
P /X v ) (X~ )
P Y A )( g/ ' — Y X4/
@2%—-2 = X' =Bxw/e
O+ X zf/ 776 — 3K+
O ¥~ x + 7 W

T e
K (‘(*z)@*w) Qﬂ/}gi

=7 o an A—93 =
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